
A A

A12354

P4102010103-220000-01

P1 1-ST PHOTON SHUTTER
SLOW ACTUATOR ASSEMBLY

HALF

1 1 D

 .03 [.7620]
.01 [0.25]
.005 [0.127]

.25

125

SEE PARTS LIST

MUSCIA 3/11/93

MUSCIA

D. DHU 2/3/93

D. SHU 2/3/93

T.M. KUZAY 2/3/93

D .5=1 2 A12354

14
13

12

11
10
9

8

7
6

5
4

3
2

1 P4102010103-220001

P4102010103-220002

P4102010103-220004

P4102010103-220005

P4102010103-220006

P4102010103-220007

P4102010103-220300

1

4

1

1

1

1

1

1

1

1

4

8

4

4

P1 AIR CYLINDER

P1 AIR CYLINDER SHIM

P1 AIR CYLINDER CLEVIS

P1 AIR CYLINDER CLEVIS PIN

P1 RIGHT CONTACT FINGER

P1 LEFT CONTACT FINGER

P1 SWITCH MOUNTING PLATE WELDMENT ASSY.

15

16

17

18

19

20

6

1

4

4

2

4

1

B

2

B

4

C

5

B

6

B

7

B

8

C

9

C

10

C

P4102010103-220100 P1 HOUSING WELDMENT ASSEMBLY

P1 BELLOWS FLANGE WELDMENT ASSEMBLYP4102010103-220200

21

22
23

4

8

8

11 121312

14

15

16

17

18

19

21

22 23

.148 I.D. X .031 THK LOCK WASHER

#6 - 32 X 1 1/4 LG. PAN HD. SCREW

LIMIT SWITCH ENCLOSURE

LIMIT SWITCH

#5 - 40 X 9/32 LG. SET SCREW

#10 - 32 UNC 2B NUT
#10 - 32 X 5/8 LG. HEX SCREW

RETAINER RING

#10 - 32 X 1/2 LG. SOC. HD. SCREW

1/4 - 20 X 1" LG. SOC. HD. SCREW

1/4 - 20 X 5/8" LG. HEX BOLT

.262 I.D. X .062 THK. LOCK WASHER

1/4 - 20 X 1" LG. SOC. HD. SCREW

20

SPRING STEEL

SST

SST

SST

SST

SST

SST

SST

SST

SST

SST

SECTION A - A

SEE NOTE #1

NOTES:
1. ENGRAVE WITH 1/4 HIGH LETTERS, THE FOLLOWING:

1 ST PHOTON SHUTTER
STROKE - .671" [17.04]

2SST#5 - 40 UNC 2B NUT24

24

B

B - B

B

SECTION

3.154 [80.11]

4.529 [115.02]

.625 [15.88]

.714 [18.14]

4.921 [124.99]

11.803 [299.78]

1.426 [36.22]
2.097 [53.26]

.350 [8.89]
CF 8" O.D.

Ø.5000 [12.70]
 .0000 [0.00]
+.0007 [0.02]

2. DIMENSIONS IN [  ] ARE MILLIMETERS

REF. SOURCE

2

#5133 - 25

#3PA1

#BZ - 2RQ2A - A2

2

BERRY BEARING CO.
1223 BROADWAY
JOLIET, IL. 60435

815 - 723 - 3446

MICRO SWITH
A HONEYWELL DIVISION

621 - ROUTE 83
BENSENVILLE, IL. 60106
708 -319/344 - 0241

6.802 [172.76]

)(.080 [2.03]

P4102010103-220003 P1 BEARING3

B SST

BRONZE

SST

SST

SST

SST


